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3 = 3 = 3 £ 5 . =
(BFR) | RlmRE | & (mm) HlmRE | &£ (mm) RS $£AH (mm) R AR 'K ()
165 50 His S49| 2,518.0{#B4& S38 EEEETFS S63.8.25 | 346.0;2DR S$62.5.18 - 12| 158.0
w1k 39 HEER H7 | 4,068. 4| EFRJIIRE S42 450. 2| E /R H10. 8. 27 bbb. 0| & ZF H22.8.31 - 14 98.0
BIER 88 FLE H16| 3,771.0|fFmiR Sbh 82. 0| KR H10. 8. 27 617.0[gT#& H9.9.11 - 21 126.0
B[] 32 FAR S60| 5,327.5|EARIET [S29 475. 3[H & S34.8.13 407. 0/ iz B H20.7.18 - 8 135.0
L 64 F14] S61 | 4,777 1[85% S62 1616|115 S57.8. 1 671.5|K2H H21.7.25-15 ] 139.0
T 36 PAN=1-i H7 | 4,561.9|FF H6 663. 6 K8 H13.8. 21 678. 0|#E [ S32.7.16-22 | 132.0
PE 22 SRR S47| 2,978. 8|¥rFE S33 228.6[;5F H17.9.6 292. 0% H19.8.22 - 19 86.0
mE 25 e H11| 6,822.0{/NME SH9 336.5[H=E S49.7.6 I ESZS N S$57.8.9 - 17 109.0
T 47 = H5 | 6,641.0|&fE S28 187. 1|=k% H17.9.5 655. 0[LLIEE S31.8.29 - 2 160. 9
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N 3] 2 3] 2 3 2 3 . 2
(@) | RAmE | & (mm) HANmRE | &£ (nm) SRS $£AH (mm) SRS A B (mm)
Kigll 7 NSEF S49| 1,806.9|FrRIERIE | S48 119. 2| FTRERIAE  |HT. 7. 24 164. 7| ERE |H22.9. 21 - 1 57.0
i)l 1 XiH Sh6| 2,218. 8| KFHA H19 855. 0| X#01H S63. 8. 25 278.5|X#1HA H11.7.28 - 23 54.0
A5l 16 X%t S66| 2,370.6{MH L SH8 395.3[ZERE S63.8.25 346. 0[5 1% H17.8.29 - 14 57.0
RAlI 1 iR SH56| 1,969. 6t S42 57. 0|48 S50. 8. 23 128. 5|48 H8.9.11 - 18 42.0
EEFBI 2 EFAA L |HI2| 2,132.0(5% H13 720. O[ZEF5AI 2 L [S50. 8. 23 224. 0|EF[ X L [H6.8.27 -4 41.0
Bl 1 G S30| 1,701. 2{ 5% H20 861. 0[5 57 H15.8.9 220. 0[5 57F S$57.8.29 - 17 44.0
ikl 1 FEE S56| 1,591.6|FH H20 640. 0| ER S34.4.5 335. 0| HR H4.8.9 -8 54.0
TSI 17 His S49| 2,518. O EERI SH9 266. 0|F &R _EFEIH11. 7. 31 283. 0;AM IR S62.5.18-12 | 158.0
ETEA 1 BFE S20( 1,678.6|3FE SH9 528. 8|5 F IR S60.9.7 154. 0|8 F 8@ S39.8.31-14 43.0
fE 1 HE S50 | 1,298.0[¥B4 S38 53. 5|44 H13.9. 11 112. 0|84 S43.7.21 - 12 51.0
=all 1 BF S21| 1,288.9[&F S15 303.0[EF S50. 8. 23 193. 7| F $50.9.8-24 48.5
AiBll 1 &/ E39%8 |Sh0| 1,576.6|:%./ E39%% | Sho 171. 9]/ E39%8 [H12.9.2 163. 0[5/ £3948 |S47.7.7-24 42.5
=Xl 6 B g H10| 2,146.0|F&FRJIIRE S42 450. 2| B 45 %7 H22. 8. 31 232. 0ER S$39.8.8 - 19 87.5
KL 5 fiZ& S30| 2,963. 0[fI{Z& S23 915. 1|8&R H12.3.2 249. 0[p{Z& H22.7.10 - 6 96.0
#ll 5 THAN H7 | 3,496. 1|Xgh H20| 1,023.0| F#KRA S35.8.3 288. 0| T2 KA S35.8.3 15 86. 4
B 1 [ FAS H21| 1,934 .0|H{t SH1 655. 0| S62. 8. 28 288. 0| A+ S$59.7.21 - 17 72.0
&Ll 1 E S40[ 3,075.6|E% S45 987.5[F 1L S42.8.28 278. 3[ N = S42.7.16 = 17 67.5
bl 1 HER H7 | 4,068 . 4|HZ&E S39| 2,243 . 5|AEER S62. 8. 28 21 4|[HZEE S46.7.16 - 2 73.0
=l 1 WE H10| 1,854.0[ILE S62 941.5[lLE H19.11.12] 168.0|lLE H19.11.12 -5 45.0
Bikll 2 TR Sh4| 1,954 2[%E iR H15 693. 0] b S33.7.29 278. 2R H3.8.31 - 11 55.0
E[A ] 3 AF S22 2,991.3|KZF S25( 6,223.8|KF S21.7.3 335. 0| & ZF H22.8.31 - 14 98.0
[CE Al 5 FiR S63| 2,628.6{H;R S25 806. 9|BH A S61.8.4 364. 0| F % H1.8.27 - 20 97.5
37T 1 {Eif H18[ 1,909.0]4E H21 [ 1,320.0]4E H19.7.15 120. 0| 4E it H21.7.27 - 16 32.0
BT EC AR )11 2 Byt SH1| 3,144, 3|55t S38 630. 6| Efa H10. 8. 27 555. 0| Efa H10.8.26 - 18 89.0
AZ 3 KF H10[ 1,829.0|#R%& SH9 628. 0| S61.8.4 236.0[Hi= H12.8.2 - 15 78.0
| AR3 )1 9 RE H10| 2,716.0[;KFE SH9 592. 6| XiR H10. 8. 27 617.0 th H10.8.27 -5 103.0
| FUR)I 51 BE T9 | 2,776. 3| A4E S25 157. 3|2 & S56. 8. 22 402. 5|7 H9.9.11 - 21 126.0
Al 1 AE M43 | 2, 798.2|FriR Sbh 82. 0| =& H11.8. 14 466. 0| = I& S56.7.18-19 | 114.0
ZE| 4 HE H3 | 2, 474.0|H& SH6 919. O[fE&= H11.8.14 322.0[Z B S57.7.31-18 81.0
BRI 3 EE)| H20| 2,033. 0| & H19{ 1,270.0]|#]JI H16.10.9 219.0[#EJII H17.8.8 - 20 75.0
T 2 #L# H16| 3,771.0[FiF H17[ 1,347.0|#L# H14.7.10 431. 0| Fix H17.8.23 - 21 73.0
=Ll 9 BES H16| 3,404.0[/NHdiR S43 664.3[FRE H14.7.10 357.0[FRE S41.9.25 -2 87.0
(ST 1 J\HZ S56( 3,185. 7@ E H8 815.0[/\ % H16.7.13 274.0[/\E% H10.8.6 - 24 74.0
{EiRlll 14 Xis H17] 3,795. 0| RAREHAT [S29 475. 3|5 & S34.8.13 407. 0| &)1 H18.8.26 - 17 72.0
| 1 TE S56( 2,288.0|F%F~& S47 124 5|/ E H7.7. 11 180. 0|k & H20.8.13 - 19 52.0
1)1 1 mE/ha H17| 2,317.0{F@/h&y S59 | 1,069.5[(Fm/NMA H7.7.11 321.5[F@/h & H7.7.11 - 18 51.5
Zail 1 FAR S60| 5,327.5[FAD H6 [ 2 275.5|F AR H7.7. 11 381.5|FAD S44.8.11 - 14 57.0
TS 2 FFz4IR S58| 4,331.7[/hNR H6 896.0|FF ~ & S44.8.10 240.8[/NER S44.8.11 -9 70.0
ECTEAN 1 EX] H16| 2,406.0[ER H6 1,218. 0|12 H16.10.20| 254.0|2KR S57.5.25 - 15 76.0
=31} 1 INE S36| 3,207.0|/MN& H13| 1,870.0[/N& S40.9.17 224. 0/ & S42.8.14 - 12 59.9
INEERIIN 1 INERER S34[ 4,382. 0|/ iz#E R S61[ 2,318. 0|/ iz#E B H20. 7. 28 272. 0|/ iz#E R H20.7.18 - 8 135.0
FHIl 1 AL & S60| 3,330.0[& = H6 1,589. 0| /&L= H8. 6. 25 185. 0| &L J=. H21.8.1-13 51.0
pA | 1 INE H17| 3,455.01/hE S45| 1,352.5|/hMEH H16.7.17 181. 0[/MEH H16.7.17 - 12 57.0
#)l 1 E/INE S55| 3,412 . 4| /MNE S57( 2, 011. 7|EB/MhNE S54. 8. 21 184.5|E/MNE H20.7.8 - 8 62.0
Egadll 4 are H10| 3,994 . 0[R2 KR H9 1,098. 0z~ & H19.9.6 513.0[i54 & H15.7.4 -4 90.0
gl 4 By e S67| 4,496.5|#E~ B Sh9| 1,586.0|#~ B S57.8. 1 671.5(1By & S41.9.26 - 24 | 130.0
AHII 2 1B H10[ 4,671.0[i& SH69 | 1,752. 0[ KR4 S57.8.3 441. 0| KFH S$62.5.23 -5 103.0
@l 1 ATk H16 | 2,328. 0[:rIm H17| 1, 455. 0[:r3m H16.10.9 187. 0[3rT 3 H16.11.11 - 24] 86.0
xEII 13 Bl H10| 3,900.0{dk L H6 804. 5[F9#t S50. 8. 22 472.5[= 1L H20.6.23 - 12 96.0
S 2 [l H10[ 3,466.0|#fE H17[ 1,424 0| EE S44. 6. 25 350.0[F EE S$51.8.9 - 17 71.5
EEN 4 [E4i S47] 2,716.8[£]R S18 897. 4|F[R S50. 8. 22 271.6[F&[R H12.9.12 -3 81.0
EAI 1 PN H16| 2,353.0|XJIl H20| 1,638.0[|XJIl H15.8.9 115. 0| KJII H16.6.29 - 24 40.0
gl 27 i) S51| 4,777.1 #m% H17] 1,243.0[BJ& S$51.9.10 430. 0| Kz H H21.7.25-15] 139.0
SRRl 2 BFE S49| 3,363.6[FF% S62 161. 6|57 & S49.7.24 472 0[%7 % S38.7.3 - 22 90.0
Sl 2 JIl.E S36| 3,882.9 iEW H17] 1,230.0{)IlE H9. 7. 26 457. 01l E H21.10.8 - 4 75.0
#ilE)l 1 R H16| 3,478.0[;k#a H19| 1,504. 0|;%k 38 HY.7.26 517. 0ik 38 S54.9.4 - 6 73.0
=l 1 = H16| 4,299.0|=]Il H8 1,643.0|= ]I H16.9. 29 665.0|=JI H16.9.29 - 10 | 119.0
o=l 3 INETEE S47| 4,484 4|/NEEFR S31 817.5|X;Z H13.8. 21 678. 0| KX;Z S$54.9.1-5 100. 0
£nll 3 AZE H16[ 3,709.0/#&A& H6 745. 7|l S31.9. 26 176. 9| A Z R S34.9.26-19 | 118.0
A 3 ¥ H22| 1,618.0|FF H6 663. 6[;E A S57.8. 1 238. 3| B S37.7.9+-19 75.2
] 10 sy S40[ 4,052.0|&[F H6 7713. 0[5k B3 $46. 8. 30 412.0|= ¥/ S$50.7.25- 20 84.0
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e |HmEn] BEABSERAR | REARIEEAE _ EERESERAN | FHARS-BEEXE
3 ] = ] = ] = ] . B
(WA) | mmms |®| O | @wms | ® | "OF | amms | A8 N0 ®mms | ®A8 - N0
mell 3 KE H2 | 2,506. 4[fEET H17 995 0| 4T & H2.9.19 194. 1| fnHET H6.7.7- 16 10.0
BRI 2 =5 S40| 2, 749. 7[®F Hi4[ 1,105.0|=%4 $45.8.21 | 251.0|= $53.9.16 - 1 17.5
hEaaE)l 4 A= H7 [ 4,561.9[%F S29[ 1,434.2|R%E8 S51.9.10 [ 338.5|&EM $63.8.25 - 11 68.5
BRI 4 ] S45| 3,697.6[&FH HI7{ 1,132 0|k H2.9.19 300. 0| = fif] $32.7.16-22 | 132.0
A 4 £ H S0 [ 2,599.9|#H H17] 1,092.0(FH H16.10.20| 280.0[#nH S34.9.26-16 | 100.0
F£II 2 W7NIR HI16| 2 487 0[F#+k Hi4[ 1, 287.0|F#k H19.8.22 | 184.0|F#k H19.8.22 - 19 86.0
X#ll 1 N H2 [ 2,440.0]7%88 SH1 327. 07788 $62.10.16{ 269.0[7vk8 $56.7.13 - 17 65.0
HE I 1 EX Hi6| 1,922.0[%E8 H19| 1.217.0[2 8 H9.8.5 166. 0|2 B H9.8.5 - 10 45.0
ER 3 far 3£ H9 | 2, 360.0[KEXR H6 880. 0| BT H H9. 6. 28 177. 0| Rar 3+ H1.7.21-15 16.0
L)l 5 SRR S47] 2,978.8[:F4& H6 839. 2|5 R IR S47.7.11 | 257.0|fiK $53.9.15-19 12.0
=izl 1 A H18] 2, 397. 04K H14] 1,376.0|4HAK $60.6.23 [ 233.0|#iK H18.7.8 - 22 80.0
iRl 1 ¥ H18[ 2 303. 0|4 HI9[ 1,213 0|4 H17.9.6 243 0[3= H1.8.17 - 17 63.0
/v 1 /N H18[ 2 237.0|/h# H12[ 1,302. 0]/ H17.9.6 274.0/N3R H14.9.16 - 20 61.0
AHI 2 HEREIR HI5| 2, 693. O[mtEE/R H20 [ 1, 552.0[i%% H17.9.6 292. 0| EEEe IR H10.8.9 -9 15.0
=111l 1 i S55| 1,603.0|FFdn H6 629. 0| FF $50.8.17 [ 158.0|fF $50.9.23 - 19 59.0
fE ] 1 Eob) Hi | 1,784.0[#FR S59 983. 0| R H10.9.24 | 191. 0|37 R H17.7.1-16 81.0
JCH]] 1 T H22| 1,958.0|$TFE S33 228. 6|#IE S47.7. 11 159. O|$E $52.6.25 - 12 61.0
=3l 2 EE ] H22[ 2 151.0]|8;% S48 751. 0|52 S54.10. 19| 228.0[8: $54.8.21 - 10 79.5
EE) 3 ARih Sb5[ 2, 650. O|FEER H6 810. 5| Aulll $62.10.16{ 347.8|AKH#h H11.9.15-5 93.0
BE)I 4 BT L Ho | 2 943 0|/hMH S59 336. 5|/NEH H17.9.6 300. 0| Bp 44 & Ln $567.8.9 - 117 109.0
gl 6 e Hi1] 6,822.0|KiF S30[ 1,250.6[fF H17.9.6 625 0| KXH $63.8.12 - 7 100.5
=il 2 HED AR H16[ 4 992 0|t AL S39| 1,612 8|#td ALl $50.8.17 [ 652.5|HEDAKIL $50.8.17-14 | 104.0
/]l 1 [EER H2 | 3. 734.7|#k%k H7 | 1.779. 7|42k H22.6.26 | 304.0|{&%k H18.9.6 - 15 89.0
ARE) 2 HR H16[ 6, 138.0|3E%F Hi7{ 1.579.0|HIR 549.7.6 M1 |HER H9.9.16 - 19 95.0
=] 6 Adel H16[ 5 073.0[ithEH H19 975. 0|&H H H12.11.1 | 567.0[&H H10.9.24 - 19 94.0
]l 1 a H16| 1.964.0[%& S59 191.0|%& H13.8.21 | 320.0|%& $54.9.30 - 19 69.0
FEA ] 3 EE S38| 3,716.4| KR H6 913. 0| E Il 538.8.9 388. 4|EE L $56.7.3 - 18 18.0
&) 3 INRF Sb5[ 3. 647.4|HH H6 | 1,062.5[#& H5.9.3 366. 3|/IMNE I $56.7.3-18 110.5
.31 2 ] 8% ¥7 H5 | 3,790.6[Z#lkz H6 | 1,204. 7[;Z#l% H17.9.6 465. 05 #A k% H19.8.2 - 20 85.0
A5 2 REF Ho | 4, 307 5[=4K H6 | 1,212 2[=4K H17.9.5 438. 0| =T HE H5.9.3 - 19 81.0
#F) 1 HE Hi1| 3,269.0[HE H6 | 1,244.5|HE H17.9.6 414 0| E H5.9.3 - 20 82.0
3 4l 3 LN Hitl| 4991.0/8/ & S34 507. 0| kg2 ]Il H17.9.6 617.0| ]Il H19.8.2 - 18 113.0
¥ 1 LHEE Hi1|] 4,839.0| F#E H6 [ 1,710.0[ EHRE H11.7.26 | 466.0[ F#RE H21.10.2 - 17 64.0
ESH 7 it Ho | 5 467 0[=H% Sb2| 1.473.9|=K H17.9.5 655. 0| fHhith H22.7.3 -2 122.0
Lid=ll 1 EE S24| 4,048. 9| S56] 1,230.5|@EFE H5. 8. 1 367.0|Eef= H5.8.2 - 1 18.0
A 3 BS Ho | 6.641.0[1L%F S56 881.0|8 5 H9.9.16 608. 0| A 3k $49.4.20-17 | 123.0
B3l 4 NI Ho | 4,925.5[2 B K H6 [ 1,107 1{XJIIA H5.8. 1 409.0|= ~ 5 H21.8.3 - 17 100.0
=)l 1 EX H5 | 3,665.0[&K S61 833. 0[S K $63.5.3 416.0|SK $63.5.3 - 19 94.0
=111 2 m/ B Ho | 4,883.0 [(5/ & Sb3| 1,322.0|im/ & S57.7.24 | 400.0|&R H1.4.25 -8 99.0
saith)l 4 vl ] H5 [ 4,196.0|&FH S28 187 1| FEH S55.8.29 [ 370.8|iLiEE $31.8.29 -2 160. 9
ES 1 RIR H5 [ 3,583.5|Wim S45] 1,220.0|mRJR $63.6.23 [ 353.0(W/R H7.7.2 - 24 94.0
Al 5 = Ho | 4,040 1[8f E S27 407 1[FF K H17.9.6 528. 0|/ H S48.7.31-3 18.0
ZHl 1 FiE H2 [ 3,578.1|FiE H6 [ 1,629.0|FFiE H18.8.18 | 404.0[FiE H3.9.14 -7 12.0
Al 1 & H3 | 2,991.2[X% S40 840. 4| X E H2. 7.1 394 9| XE H2.7.2-5 88.0
)l 1 B H3 | 3.116.6|8:F H6 | 1.236.4|8:F H2.7.1 3.7|5% H3.9.14 - 6 114.0
&) 1 INEF S55| 3.301.0)/M8F H6 [ 1,081 0|/NEF $57.7.23 | 427 0)/h%f H11.7.23 -9 101.0
F) FR2Z2FREFER (AXANBEET) £2HLICEVFELHELEDOTHS,




